      SUBSET CONSTRUCTION(CONVERSION OF NFA TO DFA)

It is used for converting an NFA having epsilon transition into a DFA. The Algorithm for this is as follows:-

Let the NFA be N and its start state be s.

We construct the equivalent DFA D.The transition table is Dtran

and Dstate represent the states of the DFA.
Initially e-closure(s) is the only state in Dstate and it is unmarked.

   While there is an unmarked state T in Dstate do begin


  Mark T;


  For each input symbol a do begin



U=e-closure(move(T,a));
          If (U is not in Dstates) 



Add U as unmarked state to Dstate;
          Dtran[T,a]=U;


  End

  End

 A state D is an accepting state if it is a set of NFA  states containing atleast one accepting state of the N. 


The following example was shown:-

NFA given was:-    

                    INPUT(TERMINAL OR E(EPSILON))

	    STATES
	      a
	       b          
	    EPSILON

	      0
	      -
	       -
	      1,7

	      1
	      -
	       -
	      4,2

	      2
	      3
	       -
	       -

	      3
	      -
	       -
	       6

	      4
	      -
	       5
	       -

	      5
	      -
	       -
	       6

	      6
	      -
	       -
	      1,7

	      7
	      8
	       -
	       -

	      8
	      -
	       9
	       -

	      9
	      -
	      10
	       -

	      10
	      -
	       -
	       -


The e-closures are calculated as follows:

eclosure(0)={0,1,2,4,7}=A=start state in corresponding DFA

eclosure(move(A,a))={1,2,3,4,6,7,8}=B

eclosure(move(A,b))={1,2,4,5,6,7}=C

eclosure(move(B,a))=B

eclosure(move(B,b))={1,2,5,6,7,9}=D

eclosure(move(C,a))=B

eclosure(move(C,b))=C

eclosure(move(D,a))=B

eclosure(move(D,b))={1,2,4,5,6,7,10}=E=final state

eclosure(move(E,a))=B

eclosure(move(E,b))=C

The Corresponding DFA is:-


                               Input Alphabet
	STATE
	        a
	          b

	A(start)
	B
	C

	B
	B
	D

	C
	B
	C

	D
	B
	E (Final)

	E
	B
	C
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